Efficiency vs hit

° | i il A
kS
0997710 20 30 40 50 60 70 80
TP hits
[==="DOW V00T _RO0000000T_GTobal_CMSSW orTg
—— DQM_V0001_R000000001_Global _CMSSW_hpit08
—— DOM_V0001_R000000001_Global _CMSSW_hptt05
— | —— DQM_V0001~R000000001__Global _CMSSW_hptt03
[ Efficienc] —— DGOM V0001 _R000000001 _Global _CMSSW_hptt01
0.05¢
[} E
#.045F
£0.04F -
20.04f
Q E
2.035F
=] E
£0.03F
o E
0.025F
0.02F
0.015F
0.0
0.005F-
-
2 +OF
T
2 + 44
4= +-
005
0 5 10 15 20 25
TP layers

Efficiency vs pixel layer
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Efficiency vs 3D layer
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